

Rachel Balji
October 18, 2020



Midcom

✓ 14.8 Homework: 5, 7, 7, 11, 13, 15 ✓

⑤ $f(x, y) = x^2 + y^2$ $2x + 3y = 6$

$$\begin{matrix} f_x = 2x \\ f_y = 2y \\ f_z = 0 \end{matrix} \quad \nabla f = \langle 2x, 2y, 0 \rangle$$

$$\begin{matrix} g_x = 2 \\ g_y = 3 \\ g_z = 0 \end{matrix} \quad \nabla g = \langle 2, 3, 0 \rangle$$

$$\nabla f = \lambda \nabla g$$

$$\langle 2x, 2y, 0 \rangle = \lambda \langle 2, 3, 0 \rangle$$

$$\begin{matrix} 2x = 2\lambda & \rightarrow & 2x = 2\lambda \\ 2y = 3\lambda & & x = \lambda \\ 0 = 0 & & 2y = 3\lambda \\ & & y = 3/2\lambda \end{matrix}$$

$$2(\lambda) + 3(3/2)\lambda = 6$$

$$\frac{13}{2}\lambda = 6 \quad \Rightarrow \quad \lambda = \frac{12}{13}$$

$$\begin{matrix} x = \frac{12}{13} & y = \frac{36}{26} \\ f(x, y) = \frac{(12)^2}{13^2} + \left(\frac{36}{26}\right)^2 \end{matrix}$$

\rightarrow minimum (no max value)

$$f\left(\frac{12}{13}, \frac{36}{26}\right) = 2.767 \approx 2.77$$

⑦ $f(x, y) = xy$ $4x^2 + 9y^2 = 32$

$$\begin{matrix} f_x = y \\ f_y = x \end{matrix} \quad \nabla f = \lambda \nabla g$$

$$\begin{matrix} g_x = 8x \\ g_y = 18y \end{matrix}$$

$$\begin{matrix} y = \lambda 8x & \rightarrow & y = \frac{2}{3}\lambda x \\ x = \lambda 18y & \rightarrow & x = \frac{3\lambda}{2}y \end{matrix}$$

$$\begin{matrix} x = \lambda 18 \lambda x \\ x = \lambda^2 144 \\ 1 = \lambda^2 144 \\ \frac{1}{144} = \lambda^2 \quad \Rightarrow \quad \lambda = \frac{1}{12} \end{matrix}$$

$$\begin{matrix} y = \frac{2}{3} \cdot \frac{1}{12} x \\ y = \frac{1}{9} x \end{matrix}$$

⑨ $f(x, y) = x^2 + y^2$ $x^4 + y^4 = 1$ $x=1, y=1$

$$\begin{matrix} f_x = 2x \\ f_y = 2y \end{matrix} \quad \nabla f = \lambda \nabla g$$

$$\begin{matrix} g_x = 4x^3 \\ g_y = 4y^3 \end{matrix}$$

$$\begin{matrix} \langle 2x, 2y \rangle = \lambda \langle 4x^3, 4y^3 \rangle \\ 2x = 4x^3\lambda & 2y = 4y^3\lambda \\ x = 2x^3\lambda & y = 2y^3\lambda \end{matrix}$$

$$\frac{1}{2\lambda} = x^2 \quad y = \sqrt{\frac{1}{2\lambda}}$$

$$\frac{1}{\sqrt{2\lambda}} = x \quad 2\left(\frac{1}{2\lambda}\right) + 2\left(\frac{1}{2\lambda}\right) = 1$$

$$\frac{2}{4\lambda} = 1 \quad \lambda = \frac{1}{2}$$

\rightarrow minimum at 1
 \rightarrow max = $\sqrt{2}$

⑪ $f(x, y, z) = 3x + 2y + 4z$ $x^2 + 2y^2 + 6z^2 = 1$

$$\begin{matrix} f_x = 3 \\ f_y = 2 \\ f_z = 4 \end{matrix} \quad \nabla f = \langle 3, 2, 4 \rangle$$

$$\begin{matrix} g_x = 2x \\ g_y = 4y \\ g_z = 12z \end{matrix} \quad \nabla g = \langle 2x, 4y, 12z \rangle$$

$$\langle 3, 2, 4 \rangle = \lambda \langle 2x, 4y, 12z \rangle$$

$$\begin{matrix} 3 = \lambda 2x & \rightarrow & x = \frac{3}{2\lambda} \\ 2 = \lambda 4y & & y = \frac{1}{2\lambda} \\ 4 = \lambda 12z & & z = \frac{1}{3\lambda} \end{matrix}$$

$$\left(\frac{9}{4\lambda^2}\right) + 2\left(\frac{1}{4\lambda^2}\right) + \left(\frac{6}{9\lambda^2}\right) = 1$$

$$\frac{11}{4\lambda^2} + \frac{6}{9\lambda^2} = 1$$

$$\frac{99}{4\lambda^2} + \frac{24}{9\lambda^2} = 1 \quad \Rightarrow \quad \frac{123}{36\lambda^2} = 1$$

$$\lambda = \frac{\pm\sqrt{123}}{6}$$

$$\begin{matrix} x = 0.812 \\ y = 0.271 \\ z = 0.18 \end{matrix}$$

$$f(x, y, z) = 3(0.812) + 2(0.271) + 4(0.18)$$

$$= 3.7 = \text{max}$$

$$(-3.7 = \text{min})$$

13

$$f(x, y, z) = xy + 2z \quad x^2 + y^2 + z^2 = 36$$

$$f_x = y$$

$$f_y = x$$

$$f_z = 2$$

$$g_x = 2x$$

$$g_y = 2y$$

$$g_z = 2z$$

$$y = 2x$$

$$y = 4y$$

$$x = 2y$$

$$z = 1$$

$$y = 2\lambda x$$

$$\Rightarrow x = 2\lambda y$$

$$z = 2z\lambda$$

$$z = 1\lambda$$

$$\Rightarrow z = \lambda$$

$$xyz = \lambda^3 4x\lambda$$

$$yz = \lambda^3$$

$$x = 2\lambda y$$

$$x = 2\lambda\lambda 2x$$

$$1 = \lambda^2$$

$$\lambda = \pm 1$$

~~$$= 2y(2x) + 2$$~~

~~z = 1~~

$$x^2 + 4x^2 + 1 = 36$$

$$5x^2 = 35$$

$$x^2 = 7$$

$$x = \pm\sqrt{7}$$

$$(\sqrt{7}, 1, 1)$$

$$y = 16$$

~~$$x^2 + y^2 + z^2 = 36$$

$$4\lambda^2 + \lambda^8 + \lambda^2 = 36$$

$$5\lambda^2 + \lambda^8 = 36$$

$$\lambda^2(5 + \lambda^6) = 36$$

$$\lambda = -1.4941 \text{ and } 1.4941$$

$$x = 2(1.4914) = 2.9828$$

$$y = (1.4914)^4 = 4.94739$$

$$z = 1.4914$$~~

15

$$f(x, y, z) = xy + xz$$

$$x^2 + y^2 + z^2 = 4$$

$$f_x = y + z$$

$$f_y = x$$

$$f_z = x$$

$$g_x = 2x$$

$$g_y = 2y$$

$$g_z = 2z$$

$$y + z = 2x\lambda$$

$$x = 2y\lambda$$

$$x = 2z\lambda$$

$$y + 2(2y\lambda) = 2(2y\lambda)\lambda$$

$$y + 4y\lambda = 4\lambda^2 y$$

$$y(1 + 4\lambda) = 4\lambda^2 y$$

$$y + 2x = 2 \cdot 4x$$

$$y = 0.4x$$

$$x = 0.8x(1.2)$$

$$1x = 0.96x$$

$$1 + 4\lambda = 4\lambda^2$$

$$1 = 4\lambda^2 - 4\lambda$$

$$1 = 4\lambda(\lambda - 1)$$

$$\lambda = 1.207 \text{ and } -0.207$$